10 15 20 25

5

0

| N of associated (recoToSim) looper tracks vs dxy |

[\ of associated (recoToSim) tracks vs dxy |

N of reco track vs dxy

—25-20-15-10 -5

| N of associated (recoToSim) looper tracks vs dz |

CERATATRTRNTR

0 5 10 15 20 25

2528

10

5

)
o
! o
o —
‘ﬂ. I
)
— =1
1 I
. T o 1
R 1
B |: Ry
E ] o
iyl 1o
E = ! 1l
U, (=}
b
h
P
b (Te} (o]
I I3}
B
En o
- N
o It} I
D —

-10

-20

°%30

N
L]
o
2
u, 2
ST § L
= |
v n ﬂ
: i o
£ [
'~

=3 a | m
R B ) g
B I 0 3
p I~ g
E |- I g
b [ {) s
%::.. .m...nv L z_J N ]
S Eol 2 o 5
G =

E 3

b=

P

b &

b §

>

30

10

-10

-20

0

'=25-20-15-10-5 0 5 10 15 20 25

0.

N of reco track vs dz

5

0.!



	Contents
	Page 1


